MANEAAAAIKEZ EZEETAZEIZ
HMEPHZIQN — EZNEPINQN ENAITEAMATIKQN AYKEIQN
AEYTEPA 3 IOYNIOY 2024
EZEETAZOMENO MAGHMA:
MPOrPAMMATIZMOZ YIMOAOIIZTQN

ANANTHZEI>:

©OEMA A

Al. a.2Q>TO B.NABGOZ vy.AAGOZ 0O8.NABOZ €&. 2QTO

A2, 18 2-or 30 4vy 5

©EMA B

B1.
def trim_a(s1):
s2=""

for char in si:
if char!="a' and char!="A":
s2.append(char)
return s2

B2. a)73,181, 145,98
B) 73, 29, 12

B3.
i=0
while i<10:
j=10:
while j>-1:
print i*j
i=i-1

i=i+1



OEMAT

max= -1
pl1 = 0.0 # oMol o1 diaywvi{opevol
pl2 = 0.0 # noool npokpidnkav

onoma=raw_input()

while onoma!="TEAOZ':
pli=pl1+1
s=0.0

p=0 # nAn6og padnuaTwv pe padpo >=12

for i in range(10):
vath=input()
while vath<1 or vath>20:
vath=input(
s=s+vath
if vath>=12;:
p=p+1

mo=s/10

print mo
if mo>15 and p==10:
print 'MPOKPINETAI ZTHN ENMOMENH ®AZH'

pl2=pl2+1

if mo>max:
max=mo
onoma=raw-.input()

pososto=pl2/pl1l *100
print max, pososto



©EMA A

ON=[]
fp=open('branch.txt’,'r')
for line in fp.readline():

ON.append(line)
fp.close()

S_P0OSO=[]
for i in range(len(ON)):
s=0
for j in range(30):
eis=input(‘'Awoe TG eInpa&eig’)
s=s+eis

S_PO0SO.append(s)

s1=0
for i in range(len(S_P0OSO0)):
s1=s1+S_POSO[i]

mo=s1/len(S_POSO)
print mo

count=0
for i in range(len(S_POSO0)):
if S_POSO[i]>=mo:
count=count+1
print count

N=len(ON)

for i in range(N-1):
for j in range(N-1,i,-1):

if S_POSO[j]>S_POSO[j-1]:
S_POSO[j]l, S_POSO[j-1] = S_POSO[j-1], S_POSOJ[j]
ON[j], ON[j-1] = ON[j-1], ON[j]

elif S_POSO[j]==S_POSO[j-1]:
if ON[j1<ON[j-1]:

ON[j], ON[j-1] = ON[j-1], ON[j]

for i in range(N):
print ON[i], S_POSOJi]



	while j>-1:
	if mo>max:



